4.3 EXERCISES |

Maximize P =x+ 2y
subjectto  2x + 5y = 20
x—5y=-5
xz0,y= 0
Maximize P = 2x + 3y
subjectto x+2y< 8§
x— ys =2
xz0,y= 0
Minimize = —2x+y
subjectto x+2y= 6
3x+2y=12
x=0,y= 0
8. Minimize C = —2x + 3y
subjectto x4+ 3y = 60

2x+ y=45 R

x =40
x=0,y= 0

9. Maximize P = x + 4y
subject to x+3y= 6
—2x+3y=-6
xz0,y= 0
10. Maximize P = 5x+y
subjectto  2x+y=8
—x+y=2
x=0,y=0
11. Maximize P =x + 2y
subjectto  2x + 3y <12
~x+3y= 3
xz0,y= 0
12. Minimize C=x+ 2y
subjectto  4x + 7y = 70
2+ y=20
xz20,y= 0
13. Maximize P =5x+ 4y + 2z
subjectto  x + 2y + 37 <24
X~ y+ z= 6
x=z0,y=0,z= 0
14. Maximize P=x— 2y +z
subjectto  2x + 3y + 2z < 12
x+2—32="6
x=20,y=0,z= 0

Exercises 5-20, use the method of this section
- solve the given linear programming problem.

15. Minimize C=x—-2y+z
subjectto . x—2y + 3z =10
2x+ y—27=15
2+ y+3z=20
x20,y=0,z= 0

16. Minimize C=2x~3y+4;
subjectto ~x+2y— z=< §
xX—2y4+2z=<10
2xXH4y — 3712
x=0,y=0,z="0

/\

17. Maximize P=2x+y+z
subjectto  x + 2y + 3z = 28
2x+3y— z= 6
x—2y+ z= 4
x=0,y=0,z= 0

18. Minimize C=2x-—1y+ 3z
subjectto 2x+ y+ z= 2
x+3y+ z= 6
2x+ y+2z=<12
x=20,y=0,z= 0

19. Maximize P =x+ 2y + 3z
subjectto  x+ 2y + z=20
3x+ y = 30

2x+ y+z=10
x=20,y=0,z= 0

20. Minimize C=3x+2y+z
subjectto x4+ 2y+z=<20
3x+ y = 30

2x+ y+z=10
x=0,y=0,z= 0
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